ZAHIR =T

LAk =7
A7avy

H— v

AR

Team DOM

B-BX

I £z

A — hv

x 1-2

2—7
4-15
265-362

AR

o 2-1

2—7
4-14
206-345

Team DOM

o 2-1

8 —1
17-4
420-265

AYFS

U= GO=E o= oo=

6—3
14-6
383-302

LA =T
B7uav7J

Team F

BB

g £z

Team F

9—0
18-0
379-185

Y—7

6—3
12-17
357-274

Berry Berry

0—9
0-18
139-378

Team Free

O 3-0

UOHO=EUoO=EooO=Eoo=

3—6
1-12
296-334

W | D

AR =7
(O =

TrvHEaaT

HEL WY

BB

g i

Lo Y A R—L

O 3-0

O 2-1

5—4
11-8
330-311

Tx A vaaz

x 1-2

1—8
1-16
189-336

HER 23

3—6
6-17
247-321

WP DN

S i =[]

UO=EUoO=EooO=Iooo=

9—0
18-1
395-193




